(A4

o1/ S T RIS 2 28 5 T8 4 BRREHAIC 5 BIAER

E=11

1. &I HAB O E&IizonT

(1) HE 1 »ABOE &
= SUR/)

7e b (33K) M [A]

#
m

(2) LREOHIRNIHIS S D RTEE 1 22 H B 07 EEic>nT

HIAER H @ . A
e bE (5548) M [B]
(3) W=z oONT
(B-A) = BX 100 = % = 20% (5248)

2. 1 ORI 2 2 H O RiA#H5E L@z >0 T
(1o 1) oWEE 2 /9»HBE O RARE E&

SH2PAD & H F H
ge b (Fad) M M
R 2 AR OAFHE - [C]

(2) EREOBIRN IS 2 Fi4E 2 A HDFE LSz oV T

AIAE 222 A O & H G2 H

78 ks M =

L2 A RoAEe%E F--- [D]

(3) WA HRIZHONWT

A+C = M

B+D = M

{ (B+D)—(A+C)} = (B+D) X 100 = % =  20% (FEREHLA )
0

K4 (&)




